## Problem [1]

(a) 
$$\frac{d}{d\xi} \left( (l-\xi^2) \frac{dP}{d\xi} \right) + \lambda P = 0$$
 (case  $u = 0$ )  
Ausalt  $P(\xi) = \sum_{j=0}^{\infty} a_j \xi^j$   
 $\Rightarrow \sum_{j=2}^{\infty} (j(j-1)a_j(l-\xi^2)\xi^{j-2} + \sum_{j=1}^{\infty} ja_j(-2\xi)\xi^{j-1} + \sum_{j=0}^{\infty} \lambda a_j \xi^j = 0$   
 $\Rightarrow \sum_{j=0}^{\infty} ((j-2\xi)(j+1)a_{j+2} - j(j-1)a_j - 2ja_j + \lambda a_j)\xi^j = 0$   
 $\Rightarrow \sum_{j=0}^{\infty} ((j-2\xi)(j+1)a_{j+2} - j(j-1)a_j - 2ja_j + \lambda a_j)\xi^j = 0$   
 $\Rightarrow a_{j+2} = \frac{-\lambda + j(j+1)}{(j+1)(j+2)} a_j$   $\forall j \in \mathbb{N}$   
 $\forall tr \lambda = l(l+1)$  with some left the power series knuiches and  
 $P(\xi)$  is a polynomial.  
Otherwork, for large  $j$   $\frac{a_{j+2}}{a_j} = \frac{j}{j+2} \Rightarrow a_j \sim \frac{1}{j}$ ; if  $\xi = \pm l$   $P(\xi) \sim \sum_{j=0}^{\infty} \frac{1}{j} (-1)^3$   
 $\varphi$  high diverges.  
(b)  $P_{2}(\xi) = \frac{1}{2^{k}e^{j}} \frac{d^{k}}{d\xi} (\xi^{2-1})^{k}$  is a polynomial of degree  $l \xi$  even for even  $l f^{(k)}$ .  
There of degree  $j$  is (negled overall nonselvation).  $\frac{d^{k}}{d\xi} (\frac{d^{k}}{d\xi}) \int \xi^{2-\frac{k+1}{2}} (-1)^{\frac{k+1}{2}}$   
 $(j+e)$   
 $\frac{(k-1)}{(j+2)} \frac{d^{k}}{(j+2)} \frac{d^{k}}{(\xi^{k-1})} \frac{d^{k}}{(\xi^{k-1})} = \frac{2(l+1)-j(j+1)}{(j+2)}$   
 $\frac{(k-1)}{(\xi^{k}+1)(j+2)} \frac{d^{k}}{(\xi^{k}+2)} = \frac{2(l+1)-j(j+1)}{(j+1)(j+2)}$   
Same returnion relation as in (a) for  $\lambda = l(l+1)! \rightarrow The P_{\xi}(\xi)$   
 $cire ke solutions to begin a graphin for  $u = 0$ .$ 

(c)  $P_0(\xi) = 1$   $P_1(\xi) = \xi$  $P_{2}(\xi) = \frac{i}{3} \frac{u^{2}}{d\xi^{2}} \left(\xi^{4} - 2\xi^{2} + i\right) = \frac{i}{2} \left(3\xi^{2} - i\right)$  $P_{3}(\xi) = \frac{1}{3.6} \frac{d^{4}}{d\xi^{3}} \left(\xi^{6} - 3\xi^{4} + 3\xi^{2} - 1\right) = \frac{1}{2} \left(5\xi^{3} - 3\xi\right)$ (d) Assume la el (otherwise start particl entry ation in the next line with other torm)  $expont.int. \frac{1}{2^{e_{2}e_{1}}e_{1}e_{1}} \int (-1)^{e_{1}} (\xi^{-1})^{e_{1}} \frac{d^{e_{1}e_{1}}}{d\xi^{i_{1}e_{1}e_{1}}} (\xi^{-1})^{e_{1}} d\xi$ boundary terms have terms at (5-1) in with new which have left-over factors (5=1) after differentiation while vanish at 5===1. lte' 7 2 e' => integrand varishes except for l= e'  $\Rightarrow \int P_{e}(\xi) P_{e}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}{(2^{e}e!)^{2}} \int (1-\xi)^{e} (2e)! d\xi \quad \mathcal{F}_{ee}(\xi) d\xi = \frac{1}$  $\int (1-\xi^2)^2 d\xi = 2 \int \cos^{2\ell+1} du = 2 \frac{2\ell(2\ell-1)}{(2\ell+1)(2\ell-1)} \int \cos u du$ de= coninde Here: use recursive formula for powers of frig fets.  $\int \cos^n u \, dx = \frac{1}{n} \cos^n u \, dx = \frac{1}{n} \left( \cos^n u \, dx \right)^{n-1} \int \cos^n u \, du$ Boundary knows have at least one cos ain factor and disoppear for u=0, u=n  $\Rightarrow \int P_{e}(\varsigma)P_{e}(\varsigma)d\varsigma = \delta_{ee'} \frac{2(2e)!}{2^{e_{d}}k^{e_{1}}\varrho!\varrho!} \frac{2^{e_{d}}k!}{(2e+1)\cdots 3} =$  $= \frac{2}{2^{l+1}} \frac{2^{l}(2^{l-2}) \dots 2^{n-2} (2^{l-1})(2^{l-3}) \dots 3}{2^{l} 2^{l} 2^{l} 2^{l} (2^{l-1}) \dots 3}$ 

(e) Tuboduce 
$$\widetilde{P}_{e}^{ub} = \frac{d^{ub}}{ds^{ub}} \widetilde{P}_{e}(s)$$
; then  $\widetilde{P}_{e}^{ub}(s) = (1-s^{2})^{ub}2 \cdot \widetilde{P}_{e}^{ub}(s)$   
We have shown heat for the  $P_{e}(s)$ :  $\frac{d}{ds}((1-s^{2})\frac{d}{ds})\widetilde{P}(s) + \lambda \widetilde{P}_{e}(s) = 0$   
Differentials un-times to r.t. 5:  
 $\frac{d}{ds}((1-s^{2})\frac{d}{ds})\frac{d^{ub}}{ds^{ub}}\widetilde{e} + \lambda \frac{d^{ub}}{ds^{ub}}\widetilde{e} + \frac{d}{ds}(n(-2s)\frac{d^{ub}}{ds^{ub}})\widetilde{e} + \binom{n}{ds}(-2s)\frac{d^{ub}}{ds^{ub}}\widetilde{e} = 0$   
 $\Longrightarrow$  The  $\widetilde{P}_{e}^{ub}$  schistly  
 $(1-s^{2})\frac{d^{2}}{ds^{2}}\cdot\widetilde{P}_{e}^{ub} - 2s(u+1)\frac{d}{ds}\cdot\widetilde{P}_{e}^{ub} + (\lambda - 2u - u(u-1))\widetilde{P}_{e}^{ub} = 0$  (\*)  
 $0$  the other hand from Legendre's DE:  
 $(1-s^{2})\frac{u}{2}(\frac{u}{d-1})(-2s)^{u}(1-s^{2})^{\frac{u}{2}-2}\frac{\mathcal{P}_{e}^{ub}}{ds} + (1-s^{2})\frac{u}{2}(2s)(1-s^{2})^{\frac{u}{2}-1}\widetilde{P}_{e}^{ub}$   
 $+2(1-s^{2})\frac{u}{2}(-2s)(1-s^{2})^{\frac{u}{2}-1}\frac{d}{ds}\cdot\widetilde{P}_{e}^{ub} + (1-s^{2})(1-s^{2})^{\frac{u}{2}-1}\widetilde{P}_{e}^{ub} + \lambda(1-s^{2})^{\frac{u}{2}}\widetilde{P}_{e}^{ub}$   
 $+4s^{2}\frac{u}{2}(1-s^{2})^{\frac{u}{2}-1}\widetilde{P}_{e}^{ub} - 2s(1-s^{2})^{\frac{u}{2}-2}\widetilde{P}_{e}^{ub} + (1-s^{2})(1-s^{2})^{\frac{u}{2}-1}\widetilde{P}_{e}^{ub} + \lambda(1-s^{2})^{\frac{u}{2}}\widetilde{P}_{e}^{ub}$   
 $+4s^{2}\frac{u}{2}(1-s^{2})^{\frac{u}{2}-1}\widetilde{P}_{e}^{ub} - 2s(1-s^{2})^{\frac{u}{2}-2}\widetilde{P}_{e}^{ub} + (1-s^{2})(1-s^{2})^{\frac{u}{2}-1}\widetilde{P}_{e}^{ub} + \lambda(1-s^{2})^{\frac{u}{2}}\widetilde{P}_{e}^{ub}$   
 $This is the same as  $(*) + (1-s^{2})^{\frac{u}{2}} \rightarrow The \mathcal{P}_{e}^{ub}$  schistly Legendre is equalities.$ 

## Problem [2]

(a) (i) 
$$[L_{j}, L_{K}] = \varepsilon_{j\ell n} \varepsilon_{kno} [r_{c} p_{m}, r_{n} p_{o}] = \varepsilon_{j\ell m} \varepsilon_{kno} (\varepsilon_{c} r_{n} [p_{m}, p_{o}] + r_{c} [p_{m}, r_{n}] p_{o}$$
  

$$= i\hbar \varepsilon_{j\ell m} \varepsilon_{kno} (-\delta_{mn} \varepsilon_{c} p_{o} + \delta_{eo} r_{n} p_{m}) + [\varepsilon_{e}, r_{n}] p_{o} p_{m} + r_{n} [r_{c}, p_{o}] p_{m})$$

$$= i\hbar [(\delta_{jk} \delta_{eo} - \delta_{jc} \delta_{ke}) r_{c} p_{o} - (\delta_{jk} \delta_{mn} - \delta_{m} \delta_{km}) r_{n} p_{m}]$$

$$= i\hbar (-r_{K} p_{j} + r_{j} p_{K}) = i\hbar \varepsilon_{jke} L_{c}$$
(i)  $[L_{j}, L_{-}^{2}] = [L_{j}, L_{j}^{2}] + \sum_{i\neq j} [L_{j}, L_{i}] = \sum_{i\neq j} (L_{i} [L_{j}, L_{i}] + [L_{j}, L_{i}] L_{i})$ 

$$= \sum_{i\neq j} (i\hbar) \varepsilon_{jik} (L_{i} L_{k} + L_{k}L_{i}) = 0$$

$$i\# \int_{0}^{\infty} \varepsilon_{jik} (L_{i} L_{k} + L_{k}L_{i}) = 0$$

$$i\# \int_{0}^{\infty} \varepsilon_{jik} (L_{i} L_{k} + L_{k}L_{i}) = 0$$

-

(a) 
$$L_{2} Y = uth Y$$
;  $L^{2} Y = \lambda th^{2} Y$   
Sepanahien awalt  $Y(\theta, \phi) = \overline{\Phi}(\phi) \oplus (\theta)$   
 $\Rightarrow -ith \partial \overline{\phi} \overline{\Phi} = uth \overline{\Phi} \Rightarrow \overline{\Phi}(\phi) = e^{im\phi}$   
 $\overline{\Phi}$  is  $2\pi$ -periodic in  $\phi$ , i.e.  $\overline{\Phi}(\phi + 2\pi) = \overline{\Phi}(\phi) \Rightarrow e^{im2\pi} = 1 \Rightarrow ut integer!$   
 $L^{2} Y = -th^{2} \left[ \frac{1}{su^{2}\Theta} (-ut^{2}) + \frac{1}{sin\Theta} \frac{\partial}{\partial \Theta} (sin\Theta \frac{\partial}{\partial \Theta}) \right] \Theta = \lambda th^{2} \Theta$   
Substitute  $\overline{S} = cos\Theta \Rightarrow sin\Theta = \sqrt{1-\overline{S}^{2}}; \quad \partial \overline{\Theta} = -sin\Theta \frac{\partial}{\partial \overline{S}}$   
 $\Rightarrow \frac{\partial}{\partial \overline{S}} \left( (1-\overline{S}^{2}) \frac{\partial}{\partial \overline{S}} \right) \Theta(\overline{S}) - \frac{ut^{2}}{1-\overline{S}^{2}} \Theta(\overline{S}) + \lambda \Theta(\overline{S}) = 0$  fequencies equation  
 $\Rightarrow Y(\theta, \phi) = e^{im\phi} P_{e}^{ut}(cos\Theta) \qquad (up to proper wormalization)$ 

## Problem [3]

$$\begin{split} (a) \langle H \rangle [\underline{\psi}_{\pm}^{a}] &= (N_{\pm}^{a})^{2} \left( \frac{2}{2} \left( \frac{\psi_{0}(x,a)}{\psi_{0}(x,a)} dx \pm 2 \int \psi_{0}(x,a) H \psi_{0}(x+a) dx \right) \right) \\ (a) \langle H \rangle [\underline{\psi}_{\pm}^{a}] &= \left[ \frac{2}{2} \int \psi_{0}^{2}(x-a) dx \pm 2 \int \psi_{0}(x-a) \psi_{0}(x+a) dx \right]^{-1} \\ &= \left[ \frac{2}{2} \left( 1 \pm e^{-\frac{i\pi\omega_{0}}{\pi}} a^{2} \right) \right]^{-1} \\ &= \left[ \frac{2}{2} \left( 1 \pm e^{-\frac{i\pi\omega_{0}}{\pi}} a^{2} \right) \right]^{-1} \\ \int q_{0}(x-a) \frac{4}{\pi} \psi_{0}(x-a) dx = \left( \frac{m\omega_{0}}{\pi\pi} \right)^{1/2} \left( \frac{4x^{2}}{2m} \int e^{-\frac{m\omega_{0}}{\pi}(x-a)^{2}} \left( -\frac{m\omega_{0}}{\pi} + \frac{\omega_{0}^{2}\omega^{2}}{\pi^{2}} (x-a)^{2} \right) dx \\ &+ \frac{1}{2} m\omega^{2} \int e^{-\frac{m\omega_{0}}{\pi} (x-a)^{2}} \left( ixi-a \right)^{2} dx \\ &= \frac{1}{4} \pi\omega + \frac{1}{2} m\omega^{2} \left( \frac{m\omega_{0}}{\pi\pi} \right)^{1/2} \int e^{-\frac{m\omega_{0}}{\pi} (x-a)^{2}} \left( ixi-a \right)^{2} dx \end{split}$$

$$\begin{aligned} \int \psi_{0}(x-a) \, \mathrm{ff} \, \psi_{0}(x+a) \, \mathrm{d}x &= \left(\frac{\mathrm{hid}}{\mathrm{hin}}\right)^{1/2} \left(-\frac{\mathrm{hid}}{2\mathrm{m}} \int e^{-\frac{\mathrm{hid}}{\mathrm{hin}} \frac{1}{\mathrm{hin}}} \left(\frac{\mathrm{hid}}{\mathrm{hin}} \left(\frac{\mathrm{hid}}{\mathrm{hin}} + \frac{\mathrm{hid}}{\mathrm{hin}} \left(\frac{\mathrm{hid}}{\mathrm{hin}} + \frac{\mathrm{hid}}{\mathrm{hin}} \left(\frac{\mathrm{hid}}{\mathrm{hin}} + \frac{\mathrm{hid}}{\mathrm{hin}} \right)^{1/2} \right) \, \mathrm{d}x \, e^{-\frac{\mathrm{hid}}{\mathrm{hin}} \mathrm{d}^{2}} \\ &+ \frac{1}{2} \, \mathrm{hid} \, \mathrm{d}x = \left(\frac{\mathrm{hid}}{\mathrm{hin}} + \frac{\mathrm{hid}}{\mathrm{hin}} + \frac{\mathrm{hin}}{\mathrm{hin}} + \frac{\mathrm{hin}}{\mathrm{hin}} + \frac{\mathrm{hin}}{\mathrm{hin}} + \frac{\mathrm$$